LU Pageer 20

SECTION-1

Sub—Section [-A: Number of (Juestion =25

Seakis £301 Be UG anrty saeomurk each,

"

Directions for Questions 1 to 4: Answer the
gquestions on the hasis of the information g@iven
helow.

The data points in the figure helow represent
monthly  income  and  expenditure  data  of

individual memhbers of the Ahwa family (%4), the
Bose family (&), the Coomar family (1), and the

Dubey farmuly (). For these questions, savings 15
defined as

Savings = Income — Expenditure
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1. Which family has the lowest average
ihcotne?

a oAhija
h. W Bose
C.oCo otnar
i Dubey

2. Which family has the highest average
expenditure?

a Ahwya
h. Bose

c. Coomar
d. Dubey

3. The highest amount of savings accrues to a
member of which family?
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a Ahwya

b, Boze

c. Coommar

d. Dubey

4. Which family has the loWwest average

sarings?

a Ahwya

b, Boze

c. Coommar

d. Duhey

Directions for Chicstions S to 8 Answer the
questions of the hasis of the information given
helow.

The Dfan’s office recently scanned student results
o the“central computer systetn. When their
character reading software cannot read something,
it beaves that space blank The scanner output
reads as follows:

In the grading system, & B, C, D, and F grades
fetch 6, 4, 3, 2, and 0 grade points respectively.
The CGrade Point Average (GPA) 15 the anthmetic
mean of the grade points ohtained in the five
subjects. For exmple Nisha's GPA s (A + 2+ 4 +
4+ 64005 =36 Some additional facts are also
lenowen about the students” grades. These are

() WVipu  ohtaned the same grade in
Iarketing as Aparna ohtained in Finance
and Strategy.

(hy Fazal ohtained the same grade in Strategy
as Utlearsh did 1n Marketing.

() Tara received the zame grade in exactly
three courses.

SRR

¥ia

a2y

Epara T F 14
Edns L I F F
Clandm ji] A F F 24
Dreepab: X E I I ]
Faml i) F ji] ji] 24
Cromi C E b E EE]
Hari B A I ’E
Tan et E X
Jjagdesp A A E C EE




wl [={=]=

7
B
13 o] ]

| e
e
1| =

b
b
S

5. What grade did Preett ohtain in Statistics?
a A
b. B
o
d D

f. In Operations, Tara could have receved
the same grade as

a lsmet
b. Han
o Jagdeep
d. Mlanab
7. What grade did Utkarsh ohtain in Finance?
a B
b, C
c. D
d F

8. In Strategy, Gown's grade poift avas
higher than that ohtained hy

a Fazal
h. Han

. Migha
d. Rahul

Directions for Questions © to 12 Answer the
questions on ghe Basis of the information gven
helow.

Purana anid Maya are two brands of kitchen mizer-
grindersarailable in the local market Puranais an
oldhrand that was introduced 10 1990, while MNaya
was intfoduced in 1997 For both these brands,
20%% of the mixer- grinders bought in a particular
vear are disposed off as junk exactly two “ears
later. It 1z known that 10 Purana mixer-grinders
were disposed off in 1 997 The following figures
show the number of Purana and Naya mizer-
grinders in operation from 1995 to 2000, ag at the
end ofthe vear.

T D
a, How many Maya muxer-grninders were
purchased 1n 19997

a 44
h. a0
Cc. 55
d. A4

10. How many Maya mixer-grinders were
disposed off by the end of 20007

a 10
h. 16
c. 22
d. Cannothe determmined from the data

11. How many Purafia mizmer-grinders were
purchased 1n 19999

a 20

h. 23

c. &0

d Cannothe determined from the data
12. How many Purana mizer-grinders were

dispiozed offin 20007

a 0

b 5

c. f

d. Cannotbe deterruned from the data

Directions for Questions 13 to 16: Answer the
gquestions on the hasis of the information given
below.

Frof Singh has heen tracking the number of
wizitors to his homepage. His service prowider has
provided him with the following data on the
countty of origin of the visitors and the university
they bel ong to:

Mumber of visitors
Day
COUNTEY 1 2 3
Canada 2 1 1
Metherlands 1 1 1
India 1 2 1
1JE 2 1] 2
54 1 0 2

Humber of wisitors

Day
COUNTREY 1 4 3
University 1| 1 I I
University 2 | 2 I I




University 3
University 4
University 5
Utiversity 6
Utiversity 7
Utiversity 3
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13, To which country does Universty 3
helong?

a Indiaor Netherlands but not USA
h. Indiaor USA but not Methetlands
t. Metherlands or US4 but not India
d. Indiaor US4 hut not UE
14. Universty 1 can belong to
a UK
h. Canada
c. Methrands
d. USA
14, Visitors from how many universities from
UK wisted Prof Singh’s homepage in the
three days?
a |
h 2
c 3
d 4
16, Which among the listed cowsitries’ can
possibly host three of the,etoht listed
universities?
a Mone
b, Only UK
c. Only India
d. Both India and WK

Directions for Questions 17 to 200 Answer the
gquestion @nvthe) basis of the information mven
helowe

Agtudy wee conducted to ascertan the relative
importance lat emplovees 1n  fve different
countries assigned to five different traits in ther
Chief E=xecutive Officers. The traits were
compassion (C), decisiveness (D), negotiation
shallz (W), public wisthility (F), and wision (V).
The level of dissimilanty between two countries is
the masmum difference in the ranks allotted by
the two countries to any of the fve traits. The
following tahle indicates the rank order of the five
traits for each country.

Soaof T

China | Japan | Malaysia | Thailand

MLWMHE

2=1=17 0 |E
3

=2 o|o|=
e o] la=l L] =
=] =

17. Which of the following countnesds least
dissimilar to India?

a China
b, Japan
c. MMalaysia
d. Thaland

18, Which amongst thefolléwing countnies 1s
o st disstmmalar to India?

a China
b, dapan
e Wlalaysia
dThaland

19 (Wich of the following pars of countries
are most disstrlar?

a Chinad Japan
b, India & China
c. Malaysia & Japan
d. Thailand & Japan

200 Three of the following four pars of
countries  have identical  levels  of
dissinilarity. Which pair 15 the odd one
out?

a DMalaysia & China
b, China & Thailand
Thailand & Japan

d. Japan & Malaysia

Directions for Cuestions 21 to 26: Each question
iz followed by two statements, & and B Answer
each question using the following instructions:

21, Four candidates for an award ohtain
distinct scores in a test. Each of the four
casts a vote to choose the winner of the
awatd. The candidate who gets the largest
mumber of votes wins the award. In case of
a tie in the woting process the candidate
with the highest score wins the award
Who wins the award ?
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23

A The candidate wiath top three scores
each wote for the top scorer amongst
the other three.

B. The candidate with the lowest score
votes for the player with the second
highest score.

a if the guestion can be answered hy
using one of the statements alone hut
not by using the other statement alone

h. i1f the guestion can be answered hy
using either of the statements alone.

c. if the guestion can he answered hy
using hoth statements together hut not
hy either statement al one.

d. 1fthe gquestion cannot he answered on
the hasis of the two statements.

Zakih spends 30% of his ihcome on his
children’s education, 20% on recreation
and 10% on healthcare. The corresponding
percentages for Suprivo are 40%%, 25% and
13%. Who spends more on clildren’s
education?

& Zaab spends more on recreation than
Supniyo.
B. Supnyo spends more on heathcars

than Zakih,

a if the guestion can be answeCd hy
using one of the statements alone’but
not by using the other statement alone!

b, if the gquestion can be answercd by
using either of the sttements Blone.

c. if the guestion can be auswered by
using both stafements together but not
hy either statement a'dne.

d. 1f the ghestion cabnot be answered on
the basis o Tthe two staternents.

Taral 18 sheriting 2 steps to theleft ofared
markvand 3 steps to the right of a blue
matk. He tosses a coin. If 1t comes up
heads, he moves one step to the night;
ntherwise he moves one step to the left. He
keeps doing this until he reaches one of the
two matls, and then he stops. At which
mark does he stop?

& He stops after 21 coin tosses.
BE. He ohtains three more tals than heads.

a 1f the guestion can he answered hy
using one of the statements alone hut
not by using the other statement alone.

24,

25,
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b, if the gquestion can be answered by
using either of the statements alone.

c. 1f the gquestion can be answered by
using hoth statements together but not
hy either staternent alone.

d. 1f the question cannot be answered on
the hasiz of the two statements.

In a class of 30 students, Fashiw secured
the third rank among the girls wiile her
hrother Kumar studying in thesame class
secured the sixth rank in theywhole class.
Between the twao who hadea better overall
rank?

A Kumar was arnafl the ton' 25 %% of the
bhoys merit lisf in the class in which
60%% were boys.

B. Theres¥éee thtee bovs among the top
five tankhodders and three gitls among
HiCtop tendank holders,

a Uf the gquestion can be answered by
usifig one of the statements alone but
ot by using the other statement al one.

boif the gquestion can be answered by
using either of the statements alone.

c. 1f the guestion can be answered by
using both statements together but not
hy either staternent alone.

d. 1f the question cannot be answered on
the hasiz of the two statements.

Mandini patd for an artide using currency
notes of denornations Re. 1, Rz 2, Bs. &
and Bz 10 ustng at least one note of each
denomination. The total number of five
and ten rupee notes used was one more
than the total number of one and two rupee
notes used. What was the price of the
article?

A Wandint used a total of 13 currency
notes.

B. The price of the article was a multiple
of Rz 10,

a if the question can be answered by
using one of the statements alone but
not by using the other statement aone.

b, if the guestion can be answered by
using either of the statements alone.

c. if the gquestion can be answered by
using both statements together but not
by either staternent alone.




d. 1f the question cannot be answered on
the hasiz of the two statements.

26, Favi spent less than Rz 75 to buy one
lalogram each of potato, onon, and gourd.
Which one of the three vegetables hought

was the costliest?

A 2 kg potato and 1 kg gourd cost less
than 1 kg potatn and 2 kg gourd.

B. 1 kg potato and 2 kg onion together
cost the same as 1 kg onion and 2 kg
gourd.

a 1f the guestion can he answered hy
using one of the statements alone hut
not by using the other statement alone.

h. i1f the guestion can be answered hy
using either of the statements alone.

c. if the guestion can be answered hy
using hoth statements together hut not
by etther statetnent a one

d. 1fthe gquestion cannot he answered on
the hasis of the two statements.
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Directions for (Questions 27 to 30: Answer the
gquestions on the basis of the information ofven
helow,

Coach John sat wath the score cards ofldian
players from the 3 games in & ope-day cricket
tournament where the same set of players played
for India and all the maor batsmen@ot out. John
summarized the batting pesformance through three
diagrams, one for each game. In each diagram, the
three outer trianglefcotmunicate the number of
tuns scored by the threetop scorers from Indig
where K, B, 5, %W, and Y represent Kaf Rshul,
Saurav, Wirender, and Yuwra respectively. The
middle trisngle 'in each diagram denotes the
percentageyof total score that was scored by the
top thees Indian scorers in that game Mo two
plavers score the same number of runs in the same
gamme. John alzo calculated two batting indices for
each player based on his scores in the tournament;
the R-index of a batsman is the difference
hetween his highest and lowest scores in the 3
games while the M-index 12 the middle number, 1f
hiz scores are arranged in a non-increasing order.

27 How many players among those listed
definitely scored less than Yuwra) in the

tournament?

a 0

h 1

c 2

d. Dore than 2

28, Which of the playsfs had thediest M-index

from the tourmament?
a FEahul

h. Saurdr

c. menviEr

d. (i)

29 For hoWmany Indian players iz it possible
fo caleulate the exact M-index?

a0
b1
c 2
d. Dore than 2

an. Among the players mentioned, who can
have the lowest R-ndex from the
tournament?

a Only Kaif Rahul or Tuwrs
h. Cnly Kaif or Eahul
c. Only Kaf or Yuvry

Only Kaif

Directions for Questions 31 to 34: Answer the
gquestions on the hasis of the information given
helow.

Twenty one participants from four continents
(africa,  Americas,  Australasia,  and  Europe)
atended a United MNations conference Each
participant was an expert in one of four felds
labour, health, population studies, and refugee
relocation. The following five facts about the
participants are given.
{1} The mumber of lahour experts in the camp
was exactly half the number of experts in
each ofthe three other categories




(2)

(3)
(4)

(5)

il
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33

Africa did not send any labour expert.
Otherwise, every contnent, including
Africa, sent at least one expert for each
categoty.

Mone of the continents sent more than
three experts in any category.

If there had heen one less Australasian
expert, then the Americas would hawve had
twice as tmany experts as each of the other
continents.

Mike and Alfanso are leading experts of
population  studies who attended  the
conference. They are from Australasia

Alex, an American expert in refugee
relocation, was the first kevnote speaker in
the conference. What can be inferred abhout
the number of American expertsin refugee
relocation 1 the conference, excluding
Alex?

A Atleastone

B. At most two

a Only A andnot B

h. Only B and not &

c. Bothd and B

d. Metther & nor B

Which of the followang numbers cannal be
determined from the information given?

a Mumber of labour experts G0 the
Americas

h. Nutnher of health expérts fiom Europe.

c. Mumher of Chedth experts from
Australasia

d. Mumheto, of Experts  in
relocatinn from: Africa

Which of%he following combinations 1s

MET fmssihle?

& @ experts tn populaton studies from
the Americas and 2 health experts from
Africa attended the conference.

h. 2 experts in population studies from
the Americas and 1 health expert from
Africa attended the conference.

c. 3 experts in refugee relocation from
the Americas and I health expert from
Africa attended the conference.

refugee

oo G

d. Afnca and America each had 1 expert

in population studies attending  the
conference.

34 If Ratnos 15 the lone American expert in

population studies, which of the foll owing

12 NOT true ahout the numbers of experts

in the conference from the four continents?

a There is one expert in health from
Africa

h. There i1z one expert um  refigee
relocation from Africa

c. There are two exper@in hdalth from
the Armercas.

d. There are thrfe expestd in refugee
relocation fromithe Atnencas.

Directions for {Juestions 35 to 38: Answer the
questions on the @asis of the mnformation given
below.

The camwas 2006, All six teams in Pool A of
World Cuphhockey play each other exactly once
Each Win farns a teamn three points, a draw earns
ofte poitt and a loss earns zero points. The twao
teatils with the highest points qualify for the
setnifinds In case of a tie the team with the
highest goa difference {(Goals For - Gods
Against) qualifies In the opeming match, Spain
lozt to Germany. After the zecond round (after
each team played two matches), the pool tahle
looked as shown below

g

s % g7,
; HEHEL L
i G IO s ] IEC IEC
Gernany 2 2 0 ol3]l i
Argentira 2 2 0 ol2]o i
Spain 2 | 0 1]15]32 3
Paldstan 2 | 0 112]1 3
Mew Zealand | 2 0 0 21114 0
South Afrhca 2 0 0 21114 0

In the third round, Span played Palastan
Argentina played Germany, and New Zeaand
played South Africa All the third round matches
were drawn. The following are some remlts from
the fourth and fifth round matches

() Span won hoth the fourth and fifth round
matches.

(b} Both Argentina and Gertnany won ther
fifth round matchez by 3 goals to 0.




(c)
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SECTION-II

Palastan won both the fourth and fifth
round matches by 1 goal to 0.

Which one of the following statements 12
true about matches played in the first two
rounds?

a Germany beat New Zealand by 1 goa
to 0.

b, Spain beat New Zealand by 4 goals to
0.

¢ Spain beat South Africa by 2 goals to
0.

d. Germany beat South Africaby 2 goals
tol

Which one of the following staternents 12
true ahout tmatches played in the first two
rounds?

a Pakistan beat South Africa by 2 goals
to 1

b, Argentinabeat Palistan by I godl to 0.
c. Genmany heat Palcistan by 2 goalsto 1

d. Germany heat Spain by 2 goals to 1.
Which team finished at the top of the pool

after five rounds of matches?

a Argentina

b, Germany

c. Spain

d. Cannot be deterrnined from thedaba

If Palkistan gqualified a6 one of the two
teamns from Pool &, which was the other
team that qualified?

a Argentina
b, Germany
o Spain

d. JLanaoithe deterrined from the data
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Directions for Questions 39 to 48: Answer the
gquesti ons independently of each other.

39

The total number of integer pars (2, 7)
sat sfying the equation x+ v = xy 15

40,

41.

42,

43.

o G

a 0
b 1
c. 2

d. MNone of the ahowe

Two hoats, traveling at 5 and 10 lans per
hour, head directly towards each other.
They hegin at a distance of 20 kms from
each other. How far apart are they (in lems)
one minute before they collide?

a 112
h. 116
c 174
d 1/3

Each farnily in a lacality has at most two
adults, and no famid¥ has fewer than 3
children. #Cohsideing  all the families
together, theére Sre more adults than hoys
oy boys thafi girls, and more gitls than
families. Y Then the tinimum  possihle
tinbenal families in the locality 1z

a 4

s
c. 2
d 3

Suppose 1115 an integer such that the sum
of the digits of nis 2, and 10" <= n < 10"
The number of different walues fornis

a 11
h. 10
c. 9
d 8

In Muts 4And Bolts factory, one machine
produces only nuts at the rate of 100 nuts
per mimute and needs to be deaned for 5
mimutes after production of every 1000
nuts. Another machine produces only holts
a the rate of 75 bolts per tinute and needs
to be ceaned for 10 minutes after
production of every 1500 bolts. If both the
machines start production at the same
time, what 15 the mimmum duration
required for producing 9000 pairs of nuts
and bolts™?

a 130 runutes
b, 135 munutes
c. 170 tinutes
d

120 rrunutes




44,

45,

44,

47.

On January 1, 2004 two new societies, 51
and 52, are formed, each with n members.
On the first day of each subzeguent month,
A1 adds b members while 52 multiplies its
ourrent mumber of members by a constant
factor r. Both the societies have the same
number of members on July 2, 2004, If b
10.5n, what 15 the vdue of t7

a 2.0
h. @

c. l.a
d 1.7

Karan and Arjun run a 100-metre race,
where Karan heats Arjun by 10 metres, To
do a fawour to Arun Karan starts 10
metres hehind the starting line in a second
100-tnetre race. They both run at their
eatlier speeds. Which of the following is
true 1n connection with the second race?

a Karan and Arun reach the finishing
line simultaneously.

b, Anunheats Karan by 1 metre.
o Arun heats Karan by 11 metres.
d. Karan heats Arjun by | metre.

A father and his son are watting at a hus
stop in the evening There 15 a lamp post
hehind them. The lamp post, the father and
his son stand on the same straght line The
father ohszerves that the shadows olvis
head and hiz son’s head are incident at the
same point on the grounfl. It the heghts of
the lamp post, the father dnd his son are 6
metres, 1.8 metres and™ 0.9 metres
respectively, and the father 15 standing 2.1
tnetres away Hointhe post, then how far
{in metreg) tathe son standing from his
father?

a 8
b LS
Coaldg
i 045

If the sum of the first 11 terms of an
anthmetic progression equals that of the
first 19 terms, then what i3 the sum of the
first 30 terms?

a 0
b -1
oo 1
d. Motunique

Loof I

43, 1 % o d

b+c c+a a+b
take any value except:

a 142

h -1

c. 1/2or-1
—1/2 or -1

=r then r cannot

Directions for (Questions 49 to 51: Amswer the

gquestions on the hasis of the infomsaton
helow.

o1 Ve

In the adjoining figure, T and( I are Gircles wath
centres Poand O respectw®@ly. O Thed two circl es
touch each other and have a comimon tangent that
touches them at points Rand Saespectively. This

common tangent meets the line joimng P an
0. The diameterd of Jand I are 1n the ratio 4
1z alzo knownthatthe length of PO1s 28 cm.

diJat
300t

/ﬁh{%

[

49 What 15 the ratio of the length of
that of QO7
a 1:4
h. 1:3
c. 3.8
d 34
50, Whatis the radius of the circle 117
a 2uon
h. 3 com
c. 4om
d 5cm
51, Thelength of 50 15
a 3¥icm
b 1043 cm
1243 cem
d. 1443 cm

PO to

Directions for (Questions 52 to 58: Answer the

gquestions independently of each other.




52,

53

54,

55

56,

57

A mulloman mixes 20 litres of water wath
a0 lhtres of malk After selling one-fourth
of this mixzture, he adds water to replenish
the gquantity that he has sold. What 1z the
cutrent propottion of water to rulk?

a 2:3

h. 1:2
c. 1:3
d 3:4

Let fiz) = =" — bz where a and b are
constants. Then atz =10, f{x) i

a magrmized whenevera=>0,b =10
b, mammized whenevera=0,bh <0
c. munimized whenevera= 0, b =0

d. minimized whenevera= 0, b <0

If f(z) = =° — 4z + p, and £0) and £1) are
of opposite signs, then which of the
foll owing 15 necessarily true?

a —-1«<p=d
h. D=<p<3

c. —2<p%l
d —3<p=1

M persons stand on the crcumference of &
arcle at distinct points. Each pozahble paie
of persons, not standing next to eacho@ther,
sings a two-minute song one pair aften’the
other. If the total titne taken forl singing is
28 minutes, what 15 MY

a 5
h. 7
c. 9

d. MNone of th€ahowe

If a manScwcles at 10 kmihr, then he
arives.at @ cettan place at 1 pm. If he
cycles @t S kmthr, he will arrive at the
saneplace at 11 am. At what speed must
he tycleto get there at noon?

a 1) kmihr
B0 12 lemhr
c. 13 kmihr
d. 14 kmihr
Let yp= 1
1
2+
1
I+ I
2+
34

What 13 the value of v7

58,

i oed T4
a ({13+ 3)2

b, (V13 - 2)2
e ({15 + )2
d. (15— 32

A rectangular sheet of paper, when halved
by folding it at the mud point of its longer
side, results 1n a rectangle, whose longer
and shorter sides are in the. same
propottion as the longer and shofter Sides
of the original rectangle. If thelshotter side
of the original rectangle 15 2 what Is the
area of the smaller rectan@le®

a 442
b, 242
e A2

d. MNonedt the ahdre

sub—Section II-B: Numbe of Questdion = 15
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Directions for (Questions 59 to 67: Answer the
guesiions independently of each other.

59.

al.

In the adjoining figure, the lines represent
one-way toads allowing  travel only
northwards or only westwards. Along how
tnany distinct routes can a car reach point
B from point 47

- - + Harh
ﬂ-ﬁ o

a 15

h. 36

c. 120

d. 334

In the adjoiung figure, chord ED is
parallel to the diameter AC of the cirde If
angle CBE = 657, then what is the walue of
angle DEC?




il

6.

B3,

b, 550
o 45°
d.25®

Ifthe lengths of diagonals DF, AG and CE
of the cube shown in the adjoining fi gure
are equal to the three sides of a triangle,
then the radius of the circle circumsonbing
that thangle will be

I.-—-'—-———_ F

e

c E
i
I // b
I ¥
I A

equal to the side of the cube
3 times the side of the cube
1743 times the side ofthe cube

d. i1mpossible to find from the gven
information

S

o

A sprinter starts runming on a circular path
of radius r metres. Her average speed (in
metresiminute) 15 p r during the first 30
seconds, prf2 during next one minute, prid
during next 2 tinutes, prd during Aexhd
trintes, and o on. What 13 the ratio af the
time talken for the nth round to that for thie
previous round?

a 4
h. &
c. la
d. 32

Let C he @ cifele with centre PO and 4B he
a diampeter of C Bupposze PL 12 the mad
point of the line segment POB, P2 13 the
tiid pant of the line segment PIB and so
on.oLet 1, C2, T3, ... be arcles with
diameters  POF1,  PIP2,  PZP3
respechively. Suppose the circles C1, C2,
C3, are dl shaded. The ratio of the area of
the unshaded portion of C to that of the
origingl circle Cisg

a &:9
b, 9:10
c. 10:11

d 11:12

f4.

5.

B

7.

Hiad T
On a serarce with diameter AD chord
BC is parallel to the diameter, Further;
each of the chords 4B and CD has length
2, while AD has length 8 What iz the
length of BC?

A . | H
a 7.5

h. 7

c. 775

d. Mone of the ahov

A circle gt vadius 2 15 placed against a
right angle/Anither smaller circle 15 also
plagkd as shetm in the adjoining figure.
What 12 the radius of the stnaller circle?

a 3-22
b, 4 -2z
L T -4z
d. 6 —4v2

The remander, when (15 + 23%%) iz
divided by 19, 1s

a 4
h. 15
c. 0
d 18

4 new flag 15 to be designed with ax
vertical stripes uiing some or all of the
colours yvellow, green, blue and red. Then,
the number of ways this can be done such
that no two adjacent stripes have the same
colour 13

a lZ=gl
h 16 =192
co 20= 125

24 = 216




Directions for Questions 68 and 69: Answer the
gquestions on the hasis of the information g@ven
helow.

fliiz) == l=x=1
= 21
= otherwise
oz =fl{-= forall =
iy =-f2(z) forall =
Ay =13 (=) for all =
8. How many of the following products are

necessarily zero for every =

FUx)F A f 2(x) S f 2] 4 ()

a 0
b 1
o 2
d 3

fid. Which of the following 18 necessarly true?
a Mz =1z for all =
b, fl{z) = L= fordl=
=) =f ) for all
d. fliz)+ f3z)=0for all =

Direction s for Questions 70 and 71: Answerdhe
gquestions independently of each other.

0. Consider the sequence #f numbers a), =,
oo to infinity whereaf= 81.33 and &
=—19 and & = a4 — ajp 0" 3. What is
the sum of the fgst 6002 terms of this
sequence’

a —100.55
b, —300G0
co 0335

d h19.33

T Letu= (loggx) — 6 logex + 12 wherezis a
teal number. Then the equation % = 256,
haz

a nosolution for =
h. exactly one solution for
exactly two distinct solutions forx

d. exactly three distinct solutions for

Pboed B
Directions for Questions 72 and 73: Answer the
questions on the hasis of the information given
below.

In an examination, there are 100 questions divided
into three groups & B and C such that each group
contains at least one guestion. Each question in
group A carries 1 mark, each question in group B
catties 2 marks and each question in group C
carries 3 marks. It 1z known that the questions in
group A together cany at least 0% offthe batal
tarks.

T2 If group B contans 23 duestions, then how
many gquestions are there an groop C7

a 1
b 2
c. 3

d. Cannotbe determined

73 If group @ contains & questions and group
B catriesiat least 20% of the total marks
wiieh of the following hest describes the

numher of questions in group BY

a llorild
b 12orl3
c. 13orl4
d 14o0rls

SECTION-III

Sub—Section I1T-A: Nurmber of Caestien = 45
Sepier O Re U3 rnrey Bole s Booach . Al
e oribeen gnietion N NuhoNeetion HED A onvvy
sasr v ah,

Directions for (uestions 74 to 83: Fill up the
hlanks, mumbered [74], [75] ... up to [&3], in the
two passages below with the most appropriate
word from the options given for each blank

At that tine the White House was as serene as a
rezort hotel out of season The comidors were
[7]. In the wanous offices, [75] gray men in
waistcoats talked to one another 1n low-pitched
woices. The only color, or choler, cunously
enough, was provided by President Eizenhower
hitnzel £ Apparently, his [76] was easily zet off, he
scowl ed when he [77] the cormdors.




74,

a striking

h. hollow

C. empty

d. white
75,

a quiet

h. faded

c. loud

d. stentorian
7h.

a langhter

h. curiozity

c. humour

d. temper
T

a paced

h. strolled

c. stormed

d. prowled

“Between the vear 1946 and the vear 1955 1 did
not file any income tax returns™ With thatof 78]
statement, Ramesh embarked on an accoudt ofdus
encounter with the Income Tax Depaftment I
originaly owed Rz 20,000 in unpaed tazes. With
[79] and [&0], the 20,000 hecame 60000 The
Incotne Tax Department then wesl inte action,
and I learned first hand just howtmuch power the
Tax Department wields. Royalties and trust funds
can be [81], automaebiles méy be [52], and
arctioned off Mothing telongs to the [83] untl
the caseis settled”™

TE.

a ‘dewious

b blant

¢ tactful

d. pretentious
79,

a interest

h. taxes

¢ prncpal

d. returns

al.

Frood Do

a sanchons
h. refunds
c. fees
d. fines
a1
a closed
h. detached
c. attached
d. impounded
22
a smashed
h. zeized
c. dismantled
d. frozen
23
a puechaser
h. rictim
CinvEstor
d. otfender

Directions for Questions 84 to 86: Identify the
wncorrect sentence or sentences.

24 Identify  the incorrect sentence or
sentences.
A Last Sunday, &rchana had nothing to
do.

B After waking up, she lay on the hed
thinking of whatto do.

C. At 11 o'clock she took shower and got

ready.
. She spent most of the day shopping,
a BandC
h. C
c. AandB
d B, C andD
25, Identify  the 1incorrect  sentence  or
sentences.

A Tt was a tough sitnation and Manast
‘was taking pains to make it hetter.

BE. Slowly her efforts gave fruit and things
started improving.

C. Eweryone complemented her for her
good worlk




i

D. She was wvery happy and thanked
everyone for their help.

a A

h. D

c. BandC
d AandC
Identify  the

sentences.
A Hansh told Ba to plead guilty.

B. Ea pleaded guilty of stealing money
from the shop.

. The court found Ra guilty of all the
ctimes he was charged wath.

incorrect  sentence  or

D He was sentenced for three years in
jal.

a AandC
h. Band D
o A C andD
d B, C,andD

Directions for uestions 87 to 89: Each
statement has a part missing. Choose the best
option from the four ophons given below the
statement to make up the missing part:

87

BE.

Archaeologists believe that thedpiecgs of
red-ware pottery excavated secently Wear
Bhavnagar and shed
light on a hitherto darkfolUsear period in
the Harappan history of Gl aral

a estnated with a reasonable certainty
as heing abmut 5400 vears old,

b, are estimated redfonably certain to be
about 3400 vears old

c. estgndted at about 3400 vears old wath
roasonable certainty,

i, ‘estinated wath reasonable certainty to
b about 3400 vears old,

Maty people suggest and
still others would like to conwince people
not to huy pirated cassettes

a to bnng down audiocassette prices to
reduce the incidence of music pracy,
others advocate strong legal action
against the offenders,

b, brnnging, down andiocassette prices to
reduce the incidents of music piracy,

g9,

B ad T4
others are adwocating strong legal
action against offenders,

c. bringing down andiocassette prices to
reduce the incidence of music piracy,
others advocate strong legal action
against offenders,

d. audiocassette prices to he hrought
down to reduce incidence of musc
piracy, others advocate thatestrong
legal action must be taken against
offenders,

The ancient  Egyptens o believed

so (that “when these
objects were magically reamimated through
the correct rituals they avould he able to
function effectively

a that it was essential that things they
portréyed” must have every relevant
feature shown as clearly as possihle

h. (it was(essential for things they portray
tophave had every relevant feature
shown as clearly as possihle,

£ /it was essential that the things they
potrtrayed had ewvery relevant feature
show as deatly as posable

d. that when they portrayed things, it
cshould have every relevant feature
shown as deatly as posable

Directions for {Juestions 20 to 92: In each
gquestion, the word at the top of the table 1s uzed in
four different ways, numbered I to 4, Chooze the
option i which the usage of the word is
[MCORERECT or INMAPPROPRIATE.

a0,

91,

FALLOUT
a MNagasaki suffered from the fallout of
nuclear radiation.

h. People helieved that the political
fallowt of the scandal would he

insignificant.

c. Who can predict the enwironmental
fallout of the WTO agreements?

d. The headmaster could not understand
the falout of szewveral of hiz good
students at the Public examination.

PASSING

a She did not have passing marks 1n
mathematics




b. The mad woman was cursing
evervhody passing her on the road

c. At the birthday party all the children
enjoved agame of passing the parcel.
d. A passing tam was stopped to rush the
acoident victim to the hospital
92, BOLT

a The shopkeeper showed us a bolt of
fine aillk

b, Az he could not move, he made a baolt
for the gate.

Could you please bolt the door?

d. The thief was arested before he could
bolt from the scene of the cnime.

Directions for Questions 93 to 95: The sentences
given in each question, when propery sequenced,
form a coherent paragraph. Each sentence 1z
laheled wath a letter Choose the most logical
order of sentences from among the given choices
to construct a coherent paragraph

93,

A In the west, Allied Forces had fought
their way through southern Italy as far
as Rome.

B In June 1944 Germany’s rolitary
position i World War Twd appearéd
hopeless.

. In Britain the task of amassing the
men and materials ffthe Uberation of
notthern Europe had been completed.

D. The Red Adwmy Swas poised to dnve the
Mazis back through Poland.

E. The sithation on the eastern front was
catasiratlic.

aO EDACE

by, BEDAC

o BDECA

d = CEDABR

94,

A He left justified in bypassing Congress
altogether on a variety of mowves.

B. At times he was fighting the entire
Congress.

. Bush felt he had a miszsion to restore
power to the presdency.

Pk G
[ Bush was not fighting just the
democrats.

E. Eepresentative detnocracy is a messy
business, and a CED of the Wiute
House does not like a legidature of
second ouessers and time wasters.

a CAEDE
b, DBAEC
c. CEADE
d ECDBA

95,

4. The two netghbourd never fought each
other.

BE. Fights involwing thiee mae fddler
crabs have hechwdecorded, but the
status afihe participants was unknown.

. They puéned or grappled only with the
ititrades

D We recorded 17 cases in which a
resifient that was fighting an intruder
whas joined by an immediate neighbour,
at ally.

E. We therefore tracked 268 intruder
tales until we saw them fighting a
resident male.

a BEDAC
h. DEBAC
c. BDCAE
d BCEDA

Directions for Questions 96 and 97 Four
dternative summanes are given helow each test
Choose the option that best captures the essence
of the text.

96 The luman race is spread all ower the
wotld, from the polar regions to the
tropics. The people of whom itis made up
eat different lands of food, partly
according to the climate in which they
live, and partly according to the kind of
food which their country produces. In hot
clitnates, meat and fat are not tmuch
needed; but in the Arctic regions they
seem to be very necessary for keeping up
the heat of the body. Thus, in India people
live chiefly on different kinds of grains
eggs, milk, or sometimes fish and meat. In
Europe, people eat more meat and less




97

grain. In the Arctic regions where no
grains and fruts are produced, the Eslamo
and other races live almost entirely on
meat and fish.

a Food eaten by people in different
regions of the world depends on the
clirnate and produce of the region, and
varies from tneat and fish in the Arctic
to predominantly grains in the tropics.

b, Hot dimates require people to eat
grain: while cold regions require
people to eat meat and fish.

c. In hot countries people eat tmainly
grain: while in the Archic, they eat
meat and fish hecause they cannot
grOW Zrans.

d. While people in Archic regions like
meat and fish and those in hot regions
like India prefer mainly grains, they
have to change what they eat
depending on the local dimate and the
local produce.

You seemed at first to take no notice of
your school-fellows, or rather to  set
yourself against them because they were
strangers to you They knew as little of
you as you did of them; thiz would hawve
heen the reason for their keeping@alaaf
from wou as well, which you would Hawe
felt as a hardship. Learn never t0 congeiwe
a preudice against others“08Camse, vou
know nothing of them. pd8had reasoming,
and makes enemies of Balfthe world Do
not think i1l of them till thewzdiehave 111 to
vou, and then stiiwve to avoid the faults
which you sedin them. This will disarm
their hostility sodper than pigque or
resentmentor complant.

a The @scomfort you felt with vour
sthool fellows was because both sides
knew little of each other. YVou should
tnt complan unless you find others
prejudiced  against you  and  have
atternpted to carefully analyze the
faults vou have observed in them.

h. The dizcomfort you felt with vour
schonl fellows was hecause hoth sides
knew little of each other Awoid
prejudice and negative thoughts till
vou encounter bad behaviour from
others, and then win them over hy
shunning the fanlts you have oheserved.

T

c. You encountered hardship amongst

vour school fellows bhecausze you did

not know them well. You should learn

to not make enemies hecause of your

prejudices irrespective of  their
behawour towards you.

d. You encountered hardship amongst
vour school fellows becansze you did
not know themn well. You should learn
to not make enermes hecause of gour
prejudices unless they heliave hadly
with wou.

Directions for Questions 08 to 118: Each of the
five passages given bhelow 15 followed by a set of
gquestions.  Choose the “hest Janswer to  each
question.

BASSAGE I

Recently I apent several hours siting under a tree
i mfy sardch” with the socal anthropologist
Willtar iy a Harvard University professor who
siecialized in the art of negotiation and wrote the
heatselling hoolk, Gettieg to Fer He captivated me
wath fus theory that tnbalism protects people from
their fear of rapid change He explaned that the
pillars of tnbalism that humans rely on for
security would always counter any significant
cultural or social change In this way, he said,
change 12 never allowed to happen too fast
Technology, for example 15 a pillar of society.
Ury believes that every time technology moves in
a new of radical direction, another pillar such as
religion or nationalism will grow stronger in
effect, the tradittonal and farmuliar will assume
greater itmportance to compensate for the new and
untested. In this manner, human tribes avoid rapid
change that leaves people insecure and frightened.

But we have all heard that nothing 12 as
permanent as change. MNothing iz guaranteed
Fithy expressions, to be sure, but no more than
cliches. &z Ury says, people don’t live that way
from day-to-day. On the contrary, they actively
seek certanty and stability. They want to know
they will he safe.

Ewen so we scare ourselves constantly
with the idea of change. An IBM CEO once sad:
“We only re-structure for a good reason, and1f we
haven't re-structured in a while, that's a good
reason.”  We are scared that competitors
technology and the consumer will put us Out of
business — so we have to change all the time just




to stay dive. But if we asked our fathers and
grandfathers, would they have sad that they lived
in a period of litle change? Structure may not
have changed much. It may just he the speed with
which we do things.

Change is over-rated, anyway, consider the
autornobile. It's an especially valusble example,
hecanse the auto industry has spent tens of billions
of dollars on research and product development in
the last 100 years Henry Ford's first car had a
metal chassis with an  internal  combustion,
gasoline-powered engine, four wheel s with rubher
types a foot operated cutch assembly and brake
systetn, a steering wheel, and four seats and it
could safely do 1 & muiles per hour. & hundred
vears and tens of thousands of research hours
later, we dnve cars with a metal chassis wath an
internal commbustion, gasoline-powered engine,
four wheels with rubber tyres a foot operated
clutch assembly and brake systern, a steering
wheel, four seats — and the average speed in
Londonin 2001 was 17.5 mules per hour!

That's not a hell of a lot of return for the
money. Ford evidently doesn’t have much to teach
us ahout change The fact that they're still
manufacturing cars 15 not proof that Ford Motor
Co. 15 a sound organization, just proof that it talces
very large companies to tnake cars in gred
gquantities — malang for an almost impregnabile
entry barrier.

Fifty vears after the development of thedet
engine, planes are also little changed, Théy've
grown bigger, wider and can garry tnote people.
But those are incremental, " lsigely cosmetic
changes.

Taken togethes, this ladk of real change
has come to man that 160 tfavel — whether dnwing
of flying — time “and technology have not
comhbined to shake shings much hetter. The safety
and destgrphave ofCourse accompard ed the times
and the wew wolume of cars and flights, but
nothifignot any significance has changed 1n the
hagic assurmnptions of the fina product.

Al the same time, moving around 1n cars
or acro-planes hecomes less and less efficient all
the time Mot only has there heen no great change,
hut alz0 hath forms of transport have deten orated
as more people clatnour to use them. The same is
true for telephones, which took ower hundred
yvears to become mohile or photographic film,
which alzo required an entire century to change.

Pioof 53
The only  explanation  for  this 13
anthropological. Once established 1n calcified
organizations, humans do two things: sahotage
changes that might render people dispensable, and
ensure industry-wide emulation. In the 960s,
Cerman auto companies developed plans to scrap
the entire combustion engine for an electrical
design. (The same existed in the 19703 1n Japan,
and in the 1980z in France) So for 40 years we
tight have heen free of the wasteful and Wdierous
dependence on fossil fuels Why didi’t 1t g0
anywhere? Becanse auto executivés undesstood
pistons and carburettors, and wenld W& loath to
cantithalize their expertise aling with ‘most of
their factories.

88, Which of the followifig best describes one
of the maifl1deas digcussed in the passage’

a Eapid change is usually welcomed in
Society.

b Thdustiy 15 not as innovative as it is
made out to be

c. Affe should have less change than what
we have now.

d. Cotnpetition spurs companies  into
radical innovation.
99 According to the passage which of the
foll owing statements is true?

a Exeotives of automohile companies
are inefficient and ludicrous.

h. The speed at which an automohile is
driven in a city has not changed much
it a century.

c. Anthropological factors have fostered
innovation  in automobiles by
promoting vse of new technologies.

d. Further innowation in jet engines has
heen more than incremental.

100,  Which of the following wiews does the
author fully support in the passage?

a Mothingis as permanent as change.

h. Changeis always rapid.

c. More money spent on innovation leads
to more rapid change.

d. Owver decades, structural change has
heen incremental .

101, According to the passage, the reason why
we continued to be dependent on fossil

fuels 13 that:




a Auto execubiwes did not wish to
change.

h. Mo dternative fuels were discovered.

c. Change in technology was not easily

possible.

d. German, Japanese and  French
companies could not come up with
new technologies,

PASSAGE 11

The painter 1z now free to pant anything he
chooses. There are scarcely any  forbidden
subjects, and today evervbody i3 prepared o admit
that apainting of some frnt can be as impottant as
painting of a hero dying. The Impressionists did as
much as any hody to wan this previously unheard-
of freedom for the artst Yet by the next
generation, painters hegan to abandon tie subject
dtogether, and began to paint abstract pictures.
Today the majonty of pictures panted are
ahstract.

Iz there a connection between these two
developments? Has art gone abstract becanse the
artist 15 embarrassed by lus freedom? Is it that,
hecause he 1z free to pant anything, he doesn’t
lenow what to pant? Apologists for ahstract et
often talk of it as Inc art of mammum freedam.
But could this be the freedom of the desertisland?
It would take too long to answer theselqueshions
propetly. [ believe there 15 a connection. Moy
things have encouraged the development of
ghstract art Among them had been the artists’
wish to avold the difficulties 0ffnding subjects
when all subjects are equally possible.

I raise the malter now becanse [ want to
draw attention to the fast that the painter’ s choice
of a subject 15 4 far Wmore complicated gquestion
than it would @hfirst seem. A& subject does not start
with whattes put 10 font of the easel or with
something, winch the painter happens to
remetnbiee &4 subject starts with the painter
defiding, he”would like to paint such-and-such
becanse” for some reason or other he finds it
meatingful. A subject begins when the artist
selects something for special mention. (What
makes it special or meaningful may seem to the
atist to he purely wisua — its colours or itz
form ) When the subject has heen selected, the
function of the panting itzelf 12 to commumcate
and justify the stonificance of that selection.

It 1¢ often said today that subject matter 12
unimportant. But thisis only a reaction aganst the

EYad T4
excesstvely literary and moralistic interpretation
of subject matter 1n the mneteenth century. In
truth the smibject iz literally the heginning and end
of a painting. The painting hegins with a selection
(1 will paint this and not everything else in the
world), it 1z fimshed when that selection is
justified (now you can see all that [ saw and felt in
this and how it 13 more than merely itself)

Thus, for a panting to succeed it 1s
essential that the painter and his public dgree
ghout what 13 significant. The subjectdnas havera
personal meaning for the painter of indigdual
spectator; but there must also beth@p osbility of
their agreement on its general mieaning Itis at this
point that the culture of the Socetr dnd period in
question precedes  the | atish and  his  at
Eenassance art would havéssdant nothing to the
Artecs — and vicemersa. If to some extent, a few
intellectuals can apgresiate them hoth today it 1=
because thewpculured1s an historical one its
inspiration’ 12 history and therefore it can include
wthinabzelDun phinciple 1f not in every particular,
dl kfiowit developments to date.

When culture 15 secure and certain of its
valaes, 1t presents its artists wath subjects. The
seneral agresment ahout what 15 significant 13 so0
well  established that the significance of a
patticul ar subject accrues and becomes traditional.
This 15 true, for instance, of reeds and water in
China of the nude body in Renassance, of the
animal 1n Afnca Furthermore in such cultures the
artist 15 unlikely to he a free agent he wall he
employed for the sace of particular subjects, and
the problem, as we have just described it, will not
ocout to him.

When a culture 15 in a state of
disintegration or transitions the freedom of the
artist increases — but the guestion of subject
matter becomes problematic for him: he, himself
has to choose for society. This was at the basis of
dl the increasing crises in European art during the
nineteenth century. It 12 too often forgotten how
any of the art scandals of that ime were provoked
by the choice of subject (Gencault, Courbet,
Dautmier, Degas, Lavtrec, Van Gogh, etc.).

Bv the end of the mneteenth century there
were, roughly speaking, two ways in which the
painter could meet this challenge of deciding what
to paint and so choosing for society. Either he
identified himself with the people and so0 all owed
their lives to dictate his subjects to him or he had
to find his subjects within himself as painter. By
people I mean everybody except the, bourgeoisie




Many panters did of course work for the
hourgenisie according to ther copy-book of
approved subjects, but all of them, filling the
Salon and the Roval Academny yvear after vear, are
now forgotten, buried under the hypocrisy of
those they served so sincerely.

102, In the sentence, “I helieve there 1z a
connection™ (second paragraph), what two
developments iz the author referring to?

a Panters using a dying hero and using a
fruit as a subject of painting.

h. Growing success of painters and an
increase in abstract forms.

c. Arhists ganing freedom to choose
subjects and abandoning  subject’s
altogether.

d. Rise of Impressionists and an increase
it ahstract forms.

103, When a culture 18 insecure, the painter
chooses his subject on the hasis of

a The prevalent style in the society of his
time.

h. Itz meaningfulness to the panter.
What 15 put in front ofthe sasel.
d. Past expenience and memory pfuthe
painter.
104, Which of the followang wiews 18 taken by
the author?

a The more insecurd aooultore, the
greater the freedom Ofdlie artist.

b, The more secure a cullure, the greater
the freedorm of the arfist.

c. The mmere Ssecire a culture more
difficult thewehioice of subject.

d. The tore insecure a culture, the less
significant the choice of the subject.
105, @ hich ofthe following 15 NMOT necessanly
arnbng the attributes needed for a painter
tovsucceed:

a The painter and hizs public agree on
whatis significant.

b, The pantng 1z shle to communicate
and justify the significance of its
subject selection.

c. The subject has a personal meaning for
the painter.

i oed 2
d. The panting of subjects 15 inspired by
historical devel opments.

106.  In the context of the passage, which of the
foll owing statements would NMOT he true?

a Panters decided subjects based on
what they remembered from their own
lives.

b, Panters of reeds and water in China
faced no serious problem of che@ing a
suhject.

c. The choice of subject was a soukce of
scandals 1n minet@esth O, century
European art.

d. Agreement ondhe genesal meaning of
a painting 1z influenced by culture and
historical contesxt

PASSAGE III

Throughout humén history the leading causes of
death dyare heen infection and trawma Modem
medicing as scored significant wictories against
hivth, dnd the major canses of 11l health and death
ate now the chronic degenerative diseases, such as
corChay  artery disease, arthritis, osteopoross,
Alghemer’s, macular degeneration, cataract and
cancer. These have a long latency period before
srmptoms appear and a diagnosis 15 made It
follows that the majority of apparently healthy
people are pre-ll.

But are these condiions inevitahly
degenerative? A truly preventive medicine that
focused on the pre-ll, analyzing the metabolic
errors which lead to clinica illness, tnight be able
to correct them before the first symptom. Genetic
nsk factors are known for all the chromc
degenerative diseases, and are important to the
individual s who possess them. At the population
level, however, migration studies confirm that
these illnesses are linked for the most part to
lifestvle factors — exercse, smoling  and
nutrition. MNutrition is the easiest of these to
change, and the most versatile tool for affecting
the metaholic changes needed to tilt the halance
away from disease.

May national  surveys  reveal  that
malnutrition 18 cotunon 10 developed countries
This 1z not the calorie andfor micronutrient
deficiency associated with developing nations
{type A malnutntion), but multiple micronutnent
depletion, usually combined with calorific balance
or excess (Type B malmutnition). The incidence




and seventy of Type B malnutrition wall be shown
to be worse 1f newer micronutnent groups such as
the essential fatty acids, =zanthophylls  and
fdconoid are included in the surveys. Commonly
ingested levels of these micronutrients seetm to be
far too low in many developed countries.

There 1z now considerable evidence that
Type B malnutrition iz a major cause of chronic
degenerative diseases. If this 15 the case, then tis
logical to treat such diseases not with drugs but
with  multiple  micronutnent  repletion, or
phartnaco-nutrition”. This can take the form of
pills and capsules — “rutracevticals’, or food
formats known as ‘functional foods’, Tlus
approach has been neglected hitherto because 1tis
relatively unprofitable for drug compames — the
products are hard to patent — and 1t 15 a strategy
which does not sit easily with modem medica
interventioni stn. Cwer the last 100 yvears, the dmg
industry has invested huge sums in developing a
range of subtle and powerful drugs to treat the
many diseases we are subject to. Medical traning
1z couched in pharmaceutical terms and this
approach has provided us with an exceptional
range of therapeutic tools in the treatment of
disease and in  acute tnedical emmergencies.
However, the pharmaceutical model has alsg
created an unhealthy dependency culture, in whith
relatively few of us accept responsthilisd™for
maintaning our own health Instead, we hawve
handed ower this responsihility f0  heath
professionals who know wery little®ahout health
maintenance, or disease preventiom

One  problem  for sippdrteds " of  this
argumnent 1z lack of the nghtyleind of hard
evidence. We have a wealth of epidemiological
data linlang dietary Fastops to health profiles/
disease nsks, and“aoreat deal of information on
mechani st how food“factors interact with our
hinchemi stry "Bt dlmost all intervention studies
with mmiceoiutrients, with the notable exception of
the omega 3 fally acids, have so far produced
conflichifis 0r negative results. In other words, our
soiefipe appears to have no predictive value, Does
this invaidate the soence? Or are we simply
asking the wrong questions?

Based on pharmaceutica thinking, most
intervention studies have attempted to measure the
impact of a single micronutrent on the incidence
of disease. The classical approach says that 1f vou
gve a compound formula to test subjects and
obtan positive results, you cannot know which
ingredient 15 exerting the benefit, so you must test
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each ingredient individually. But in the field of
mutnition this does not worke Each intervention on
itz own will hardly make enough difference to he
measured. The hest therapeutic response must
therefore combine micronutrients to normalise our
internal physiology. So do we need to analyse
each individual’s nutntional status and then talor
a formula specifically for him or her? While we
do not have the resources to analyze illions of
individual cases, there 15 no need to dodze) The
vast mnajonity of people are consumming@uhoptimal
amounts of most micronutnents, an@ mostaf the
micronutrients  concerned  arewmy, vary  safe
Accordingly, a comprehensife and umversal
program of micronutrient swpp okt 15 frohahly the

mozt cost-effective and fafest way of improwing
the general health of the nation.

107 Why are a'lafge number of apparently
healiliy peopleddeemed pre-ll?

a ‘They iay have chronic degenerative
disedses.

b, They do not know ther own genetic
risk factors which predispose them to
dizeases.

c. They suffer from Type-B malnutrition.

There 1z a lengthy latency penod
associated with chronically
degenerative diseases

108, Type-B malnutntion 1z a sertous concern
in developed countries hecanse

a developing countries mainly  suffer
from Type-4A malnutrition,

b it 1z amaor contnbutor to illness and

death.

c. pharmaceutical companies are not
producing drugs to treat this condition.

d. national swveys on malnutrition do not
include newer micronutrient groups.

108 Taloring micronutnent-based treatment
plans to suit indiwdual deficency profiles
1z notnecessary because

a it wery likely to give inconsistent or
negative results.

b it iz a classic pharmaceotical approach
not suited to micronutrients.

c. tnost people are consuming suboptimal
atn ounts of safe-to-consume
micronutrients.

d. itiznot cost effective to do 20,




110, The awthor recommends micronutrient-
repletion  for large-scale treatment of
chronic degenerative diseases hecanse

a 1tisrelatively easy to manage.

b, micronutrient deficiency 1z the cause of
these diseazes

c. 1t can overcome genetic risk factors.

d. 1t can compensate for other lifestyle
factors.

PASSAGE IV

Fifty feet away three male lions lay by the road.
They didn’t appear to hawve a hair on their heads.
Moting the color of their noses (leonine noses
datken as they age, from pink to black), Craig
estimated that they were ax vears old — woung
adults. “This 15 wonderfull” he said, after staring
a them for several moments. “This 15 what we
came to see. They redly are maneless” Crag a
professor at the Uniwversity of DMinnesota is
arguahly the leading expert on the majestic
Serengeti lion, whose head 15 mantled in long,
thick hair. He and Pevton West, a doctoral student
who has been worling with him 1n Tanzama, had
never seen the Tsavo lions that live some 200
tiles east of the Serengeti. The scientists had
partly suspected that the maneless males awere
adolescents mistaken for adults by dmattus
ohservers. Now they knew better.

The Tsavo research expeditidimas mostly
Pevton’s show. She had spentseseral years in
Tanzania, compiling the data sfiegneeded to
answer a queston that oughf to/ have been
answered long agn: Whe do lions have manes?
It's the only cat, wildwar domestic, that displays
such oramentation, I Teawo she was attacking
the riddle from the Oppasite angle. Why do its
lions not havé tmanes? (Some “maneless™ lions in
Tsavo Easiydo have partial manes, but they rarely
attain the tegalglory of the Serenget lions ) Does
envirofiinenta adaptation account for the trat?
Afgghe liotis of Tsavo, as some people helieve, a
distinct @b species of their Serengeti cousins?

The Serengeti lions have heen under
continuous observation for more than 35 years,
beginning with George Schaller’s pioneering work
in the 1960z But the lions in Tsave, Kenya's
oldest and largest protected ecosystem, have
hardly heen studied Consequently, legends have
grown up around them Mot only do they look
different, according to the myths, they hehave
differently, displaying  greater cunming  and
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agoressiveness. “Remember too,” Kenya The
Fough Cuide warns, “Tsavo’s lions have a
reputation of ferocity™ Their fearsome image
becamme well-known in 1898, when two males
stalled construction of wha 13 now Kenya
Ralways by allegedly Lilling and eating 135
Indian and
African laborers. A British Army officer in charge
of building a ralroad bridge over the Tsavo Fiver,
Lt. Col. J H. Patterson, spent ninel months
pursuing the pair hefore he brought them to bay
and killed them ZStuffed and mounted, thesynow
glare at wsitors to the Field MpStsin 110 Chicago.
Patterson’s account of the leotiine reign of terror,
The Man-Eaters of Tsaval Washandnternational
best seller when published in 1907 3ull in prnt,
the book has made Tsavo @liafis notorious. That
annoys some sciembists. “People don’t want to
give up on mytholody,? Dennis King told me one
day. The zoabngiethas been working in Tsavo off
and on for' four wears. T am so sick of thiz man-
eater bmsinegs, Fatterson made a helluva lot of
monky aihthat story, but Tsavo’s lions are no
rdare Hkely to turn man-eater than lions from
elaewhere”

But tales of their savagery and wiliness
dowi’t all cote from sensationalist authors looking
to tnake a buck Tsavo lions are generally larger
than lions elsewhere, enahling them to take down
the predominant prey animal in Tsavo, the Cape
buffao, one of the strongest, most aggressive
anitnals of Earth. The buffalo don't give up easily:
They often kill or severely injure an attacking
lion, and a wounded lion might he more likely to
turn to cattle and humans for food

And other prevy 15 less ahundant in Teavo
that 1n other traditional lion haunts. 4 hungry lion
iz more likely to attack humans. Safan guides and
Eenya Wildlife Serwice rangers tell of lions
atacking Land Rovers, rading camps, staking
tounists. Tsawo 15 a tough neighborhood, they say,
and it hreeds tougher lions.

But are they realy tougher? And 1f s0, 15
there any connection hetween their manelessness
and their ferocity? An intnouing hypothesis was
advanced two years ago by Gnoske and Peterhans:
Tsavo lions may be similar to the unmaned cave
lions of the Fleistocene. The Serengett vanety is
among the most evolved of the species — the
latest model, so to speak — while certain
morphological differences in Tsawo lions (higger
hodies, smaller skulls, and mayhe even lack of a
tnane) suggest that they are closer to the primitive




ancestor of al lions. Craig and Peyton had senous
doubts about this 1dea but admitted that Tsavo
lionz pose amystery to science.

111, The book Man-Eaters of Tsavo annoys
sorne scient sts because

a 1t revealed that Tsavo lions are
ferocious.

b, Patterson made a helluwalot of money
from the book by sensationalism.

¢ it perpetated the bad name Tsavo
lionshad

d. it narrated how two male Tsavo lions
were lalled.

112, The sentence which concludes the frst
paragraph, “Now they Llnew better”,
implies that:

a The two scientists were struck by

wonder on seeing maneless lions for
the first tiume.

b, Though Craig was an expert on the
Serengett lion, now he also knew about
the Tsavao lions.

c. Earlier, Crag and West thought that
amateur observers had heen mu stakoeng

d. Craig was now able to confirmethat
darkemng of the noszes as liofs aged
applied to Tsavo lions as well

113, Which of the following, i smswould
weaken the hypothese™advanced hy
Gnoske and Peterhans rao st

a Crag and Pevton develeh even more
serious doubts, about the idea that
Teavo lions abeprmitive.

h. The thaneless Tsavo East lions are
shawm to be closer to the cave lions.

o 4Fleistocene cave lions are shown to be
far 1855 wiolent than believed.

i The morphological vanations 1n body

and skull size between the cave and

Teavo  lions  are  found to hbe
insigni fi cant.

114, According to the passage, which of the

following has NOT contributed to the

popular image of Tsavo lions as savage
creatures?

a Tsavo lions have been observed to
bring down one of the strongest and

T 24
most aggresave animals — the Cape

buffala.

b, In contrast to  the situabon 1n
traditional lion haunts, scarcity of non-
huffalo prey in the Tsawo makes the
Tsavo lions mote aggressive.

c. The Tsavo lion 15 considered to be less
ewnlved than the Serengeti variety.

d. Tsawvo lions have been obsgfed to
attacls wehicles as well as huméans.

PASSAGE W

The wiahility of the fnultinetonal corporate
gystetn depends upon the deores to which people
wall tolerate the unevenness it creates It 15 well to
remember that (thes "Hew Imperialism’ which
began after 1870 in a spint of Captalism
Triumphant, soon became sertously troubled and
after 1914 %ras chiaracterized by war, depression,
hrealédowh, of the international economic systern
el “whr agEn, rather than Free Trade, Pax
Batanmied and Matenal Improvement. & major
reasnn was Britain’s inability to cope wath the by-
penducts of its own rapid accumulation of capital;
1.e., a class-conscious labour force at home, a
tmiddle class in the hinterland; and nival centres of
capita on the Continent and in Aterica Britain’s
policy tended to be atavistic and defensive rather
than progressive — more concerned with warding
off new threats than creating new areas of
expansion. Ironically, Edwardian England revived
the paraphernalia of the landed anstocracy it had
just destroved. Instead of embarlang on a “big
push” to develop the vast hintetland of the Empire,
colomal admimtstrators often adopted policies to
arrest the development of either a native capitalist

class or anative proletanat which could overthrow
thermn.

Az time went on, the centre had to devote
an increasing share of gowvernment actwity to
military and other unproductive expenditures; they
had to rely on dlliances with an inefficient class of
landlords, officials and soldiers in the hinterland
to mantan stability at the cost of development. &
great part of the surplus extracted from  the
population was thus wasted locally.

The HNew  Mercantilism  (as  the
Multinational Corporate  System  of  special
dliances and privileges, aid and tanff concessions
iz sometimes called) faces similar problems of
internal and external division. The centre is




troubled: excluded groups revolt and even some of
the affluent are dissatisfied with the roles
Mationalistic nwvalty hetween major capitalist
countries remains an important divisive factor.
Finaly, thereis the threat presented by the middle
classes and the excluded groups of the
underdeveloped countries. The natonal muddle
classes in the underdeveloped countries came to
power when the centre weakened but could not,
through  their policy of import substitotion
matmfacturing,  establish a wable basis  for
sustained growth. They now face a foreign
exchange cnsis and an  unemployment (or
population)  cnsis—the  first indicating  ther
inability to function in the international economy
and the second indicating their alienation from the
people they are supposed to lead. In the immediate
future, these national middle classes wall gan a
new lease of life as they take adwvantage of the
spaces created by the nvalry between Amernican
and non-American  oligopolists  striving  to
estahlish global marlet positions.

The native capitalists wall agan become
the chammpions of national independence as they
hargain with multinational corporations. But the
conflict at thiz level 13 tore apparent than real, for
in the end the ferwvent nationalism of the tuddle
class asks only for promotion within the corporate
structure and not for a break with that struchd@In
the last analvsis their power derives frimthe
metropolis and they cannot easily Cafford to
challenge the international system <They, do not
cominand the loyaty of their owmepopulation and
cannot realy compete with the labos powerful,
aggregate capitals from the Centre They are
prisoners of the taste p&terns and consumption
standards’ set at the centre.

The main theeat comes from the excluded
groups. [t 13 nok unlesal in underdeveloped
countries for thestap 5 per cent to ohtain hetween
30 and 40 et cent of the totd national income,
and for thetop ofe-third to obtain anywhere from
60 to" JOyper cent At most, one-third of the
population can be sad to benefit in some sense
from the dualistic growth that characterizes
development in the hinterland. The remaining
two-thirds, who together get only one-third of the
income, are outsiders, not because they do not
contribute to the economy, but because they do
not share in the benefits. They provide a source of
cheap lahour which helps keep exports to the
developed world a a low price and which has
financed the urhan-hiased growth of recent years.
In fact, it1z difficult to see how the systetn in tnost
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underdeveloped countnies could survive without
cheap lahour since remowing 1t (e g diverting it to
public works projects as 18 done in socialist
countries) would raise consumption costs fo
capitalists and professonal elites.

115 According to the author, the British policy
during the ‘New Impenaism’ perod
tended to be defensive because

a 1t was unable to deal with ghe fallouts
of asharp increase in capatal.

h. itz cumulatve capital@fad whdesirahle
side-effects.

c. itz policies fafoured wdefreloping the
vast hinterl and,

d. 1t prevented the growth of a set-up
which® could hévre been capitalistic in
rnature,

116, Thé authar 1z in a positon to draw
narallels between New Impenalism and
Mewr Mercantilism becanse

a /hoth  onginated in the developed
Western capitalist countries.

h. New Mercantilism was alogical sequel
to New Imperialism.

c. they create the same set of outputs — a
labour force, middle classes and riwval
centres of capital.

d. hoth have comparahle unewven and
diwawve effects.

117 Under MNew Mercantilism, the fervent
nattonalism of the native middle classes
does  not create  conflict wath  the
tultinational corporations because they

{the i ddle classes)
a negotiate  with  the multinational
corporations.

b, are dependent on the international
system for their continmed prosperity.

c. are not i a position to chalenge the
status gquo.

d. donot enjoy popular support.

115 In the sentence, “They are prisoners of the
taste patterns and consumption standards
set at the centre.” (fourth paragraph), what
1z the meaning of ‘centre’?

a Mational government
h. Mative capitalists




L.
d.

Mew capitalists

HNone of the above
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Directions for CQuestions 119 and 120: The
sentences given in each question, when propetly
sequenced, form a coherent paragraph. Each
sentence 15 labeled with a letter. Choose the most
logical order of sentences from among the given
choices to construct a coherent paragraph.

119

120
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Exzperts such as Larry Burns, head of
research ab GM, reckon that only such
a full hearted leap will alow the world
to cope with the mass motorization that
will one day come to China or India

But once hydrogen 15 bheing produced
from  hiomass or  extracted from
underground coal or made from water,
using nuclear of renewsable electricity,
the way will be open for a huge
reduction in carhon emissions from the
whole system.

In theory, once all the bugs hate bien
sorted out, fuel cells should déliver
hetter total fuel econosmg, than any
existing engines.

That 15 twice as gooddas ¢he internal
combustion  engine Skt only  five
percentage potats hetter than a diesel
hybrid.

Allowatignfon the resources needed to
extract \hydiogen from hydrocarbon,

o1l, cdal or gas, the fuel cell has an
efficiency of 30%:.

CEDEA
CEBDA
LAEDEC
ACEED

But this does not mean that death was
the Egyptians’ only preoccupation.

Ewen papyri come manly  from

pyramid temples.
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C. Most of our tradittona sources of

information about the Old Kingdom

are monuments of the nch like
pyramids and tomhs.

[ Houses in which ordinary Egyptians
lived hawe not heen preserved, and
when most people died they were
huried in simple graves.

E. We Lknow infimtely more abaut the
wealthy people of Egypt than wendo
about the ordinary people, @5 most
monuments were made for the ncly

a CDEEA
h. ECDAB
c. ELDCBA
d DECAB

Directions Jfar “Cmestions 121 to 123: Four
dternative summénes are gven below each text
Choogesthe aption that best captures the essence
of thie test.

10

Modem bourgenis socety, sad Mietzsche,
was decadent and enfeehled — a wchim of
the excessive development of the rational
faculties at the expense of will and
instinct.  Aganst the liheral-rationalist
stress on the intellect, Mietzsche urged
recognition of the dark mysterious world
of instinctual desires — the true forces of
life. Stnother the wall with excessive
intellectualizing  and you destroy  the
spontaneity that sparks cultura creatiwty
and ignites a zest for living. The critical
and theoretical outlook destroyed the
creative instincts. For man’s manifold
potential to be realized, he must forego
relying on the intellect and nurture again
the instinctual roots ofhuman exstence.

a Mietzsche wurges the decadent and
enfeehled modem society to forego
intellect and @we importance  to
creative instincts.

h. Mietzeche urges the decadent and
enfeebled modem society to smother
the will wth EXCESSIVE
intellectualizing and igmite a zest for
living,

c. Mietzsche criticizes the intellectuals for
enfeebling  the modem bourgeois




122,

society by not nurtunng man’s creative
instincts. .

d. Mietzache hlames EXCESSIVE
intellectualization for the decline of
modermn socdety and suggests nurtuning
creative instincts instead.

Local communities have often come in
conflict  with agents trving to exploit
resources, a a faster pace for an
expanding cotntnercial -industr a
econommy. More often than not, such agents
of resource-intensification  are  gwven
preferential treatment by the state, through
the grant of generous long leases over
mineral or fish stocks, for example, or the
provision of raw materia at an enormously
subsidized price. With the injustice so
compounded, local comtnunities at the
receiving end of this process have no
resource expert direct action, resisting hoth
the state and outside exploiters through a
vatiety of protest techniques  These
struggles might pethaps be seen as a
manifestaion of a new lkind of class
conflict.

a A new lind of class conflict anses
from preferential treatment given 40
agents of resource- intensification by
the state which the local comdnunids
sees as unfar.

h. The grant of long leaseasta azents of
resource-intens ficat og tar an
expanding cofamercial -industn |l
economny leads to dit€ct protests frotn
the local coméaumty, which sees it as
unfair,

c. Preferemtial frediment given by the

state “to sgents of  resource-
intefmfication  for  an  expanding
pormtnercial-  industial | economy
exaceéthates  injustice to loca

corntnunities and  leads to direct
protests from them, resulting in a new
tvpe of class conflict.

d. Loca communities have no option but
to protest aganst agents of resource-
intensification and create a new type of
class conflict when they are given raw
tnaterial at subsidized prices for an
expanding commerd al -industi A
ECONOMY.

123
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Although almost all cunate scientists
agree that the Earth 15 gradually warming,
they have long heen of two minds shout
the process of rapid climate shifts within
larger periods of change ZSome have
speculated that the process works like a
glant oven freezer, wanming or cooling the
whole planet at the same time Others
think that shifts ocour on opposing
schedules in the Morthern and Southern
Hemispheres, like exaggeratedt seasofg.
Fecent research in Germaly exathining
climate  patterns  in_ethe ) Southern
Hemisphere at the end 0f the bast Ice Age
strengthens the idespthat warming and
cooling occurs at Alternate titnes in the two
hemispheres. & morke definitive answer to
this debate wall allow scientists to better
predict when and “how quickly the nest
climnate stidl will happen.

a \Sdenfists have been unsure whether
rapidd shifts in the Earth’s climate
happen all & ohce or on opposing
schedules in different hemispheres,
research will help find a defimtive
answer and hetter predict climate shifts
in future.

b, Soientists have been unsure whether
rapid shifts in the Earth™s climate
happen all & once or on opposing
schedules 1n different hemispheres,
finding a definitive answer will help
thetn hetter predict climate shifts in
future.

c. Eesearch 1n  Germany  will  help
soientists find a definutive answer

about warming and cooling of the
Earth and predict climate shifts in the

future in a better manner.

d. More research rather than debates on
wartning of cooling of the Earth and
exaggerated seasons in 1ts hemispheres
will help scientists in Germany predict
climmate changes hetter in future.






